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[ 3ns.txt

[ 4adjm.kxt

[ 4ns.txt

[ 6adjm.kxt

[ sadjm-classic.txt

[ 6ns.txt

[ BeautifiedGWO.py

[ BeautifiedGwoO1.py

[ BeautifiedGwoO2.py

[ BeautifiedGWO3.py

[ BeautifiedGWO4.py

[ BeautifiedGWOS.py

[) BeautifiedGWO6.py

[ BeautifiedGWO7.py

[ BeautifiedGWO8.py

[ BeautifiedNitin.py

[ BeautifiedNitin1.py

[ BeautifiedNitinz.py

[ clusteredcomputing (1).py
[ clusteredComputing.py

[ clusteredcomputingGwo

[ clusteredComputinGWO1.py
[) ez_domain_wall.py

[ interaction.txt

[ penalty.txt

[ posdata.txt

[) posdata0.kxt

[) posdatat.kxt

[ posdata2.kxt

[ posdata3.kxt

[) posdata4.kxt

[ posdatas.txt

[ quantumrouting-example.cc
[ quantumrouting-example-2python.cc
[ quantumrouting-example-clustered.cc
[ quantumrouting-example-simple.cc
[ quantumrouting-fgst.cc

[ sanityCplusplusCheck.py

[ solvBund.py

[ solveBundlecalls.py

*BeautifiedGWO8.py

- = = x
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# meter per second

t_start = time.time()

aus_num = 6

max_graph_size=6

addon=27

whole_buff = numpy.zeros(aus_num * (max_graph_size+addon + 1))

for i in range(aus_num * (max_graph_size+addon + 1)):
if L % (max_graph_size+addon+1) == @:
whole_buff[i] = -1
elif (1 - 1) % 2 == o8:
whole_buff[i] = @.5
else:
whole_buff[i] = 1

run_flag = True

count = ©

FND_num = @
HND_num = @
LND_num = @

half_count = @
all_count = 0

dé = 87.7085
lambdap = 20

E = 50 * 0.000000001

epson_fs = 0.601 * 10*0.000000001
epson_mp = 0.6013 *0.000000001*0.001
bitsnum = 40060

max_graph_size = 6
theta_core = [

30,

9@,

150,

210,

270,

330,

]
theta_bound = [

60,

120,

180,

240,

300,

360,

]

theta core radius = 50
theta core pos = numpy.zeros((2, max graph size))
pi = 3.1415926

far i in rannefmax nranh <izel:

Python v Tabwidth:8 ~ Ln572,Col19 ~ NS



